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ust write his/her Roll Number in the
Ol on the top left hand comner of this page.
e required to be marked only on the
 O.M.R. Answer sheet which is being

. Besides filling in the Roll Number, the examinee has
te put his/her signature on the Answer Sheet and also
fill other required details like Name, Roll Number,
Question Booklet code, etc. as indicated on the Answer
OMR Sheet. If these details are not filled in by the
examinee, his/her Answer Sheet will not be evaluated

3. For each question, there are four alternative answers,

out of which only one is correct. Examinee must darken
the circle of correct option in the Answer Sheet by
Black Ball Pen only.

. There are 48 (44+4) pages in this Question-Booklet
including 1 page for General Instructions and three
blank pages for _u__u:m_._ Work in the last. In case an
exXaminee receives an incomplete or defective
Question Booklet, he/she should make a request to
the Roomy Invigilator to change the same within
10 minutas of start of the exam.

. This Question Booklet contains 150 questions from
following subjects :
{1) Maths Q. Nos. 1-50
(2) Chemistry  Q.Nos. 61— 100
{3) Physics Q.Nos. 101 150

. Each question carries 1 mark and % mark will be
deducted for each wrong arfswer.

. Possession and use of electronic devices such as
Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, elc., are restricted n_:_.__._m the examination.

. Any leaf from the Question Booklet should not be
detached. After the Examination, Question-Booklet
and Answer-Sheet must be handed over to the Room
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1. The equation of the tangent and normai
totheelipse x2 + 2y% + 2x — 4y —14=0
at(2,-1)is
A) mxlbe.l._ouo.ax.fm..._.lmno
B) 4x+3y—-10=0,3x+4y—-5=0
C) 3x—4y-5=0,4x+3y-10=0
D) mxl@!‘_cuo_hxlmuﬁlmnc

2 Ifthe line 2x + 46 y = 2 touches the

hyperbola x2 — 2y? = 4, then the point
of contact is

A) (-4,46)
B) (—4,—+6)
C) (4,-6)
D) (4,/6)

3. The angle between two diagonals of a
cube is

w oo Vg)
B) cos™ va

C) 30°
D) 45°

4. The equation of the plane which bisects
the line joining (3, 0, 5) and (1, 2, —1) at
right angles is
A) 2x +y+22=7
B) —2x +2y—6z=7
e T TR TN AL & Iy

1, ddga x2+ 2y2 + 2x -4y 14 =07
(2, —1) R T v iR e
ey S
A) 3x—-4y-10=0, 4x +3y—-5=0
B) 4x+3y—10=0,3x+4y-5=0
C) 3x—-4y-5=0, 4x+3y—10=0
D) mxlne.l,wcum_bxlm{lmuo

o R Y@l 2x + By =2 HAfdRaeH

K2 —2y? = 4 TR FH R, NI
fog 'R

A) (-4,6)

B) (~4,-+6)

C)- (4,—V6)

D) (4,6)

3y REdFdem e ¥

A) nﬂmLﬁM\a\mW
B) cos '(}3)

C) 30°
D) 45°

4. (3, c._g A (1, 2, -1) ® T

et Y Fi fewfom e FEed
T THIRCT 81

A) 2x+y+2z=7

B) -2x +2y—-6z=7
C)x—-y+2z=7



2.

1ne equation of ine Iine passing tnrougn
the point hm 3, 2) and nmﬁm:aﬁc_m_, S

5. 191 (5, 3, 2) ¥ 7oA At IR W@

- M Iw M
the lines > y uwu 3 =2 7 .and

-1_y-1_2z+1,
2 1 o0 °® _

X-5_y-3 _z-2

A)

ili

| x-5 <gm NLN
I

Xx-5_y-3_2z-2

o

The distance of the point A(a, b, c) from

- the x-axis is

A) a
C) J\mm +b?

If2Lb and (@+b)L(@+mb),
then mis

B) b%+c?

D) a?+bp?

A) 1

) B’/

-fa
Uv_l_

If the points (-1, 3, 2), (-4, 3, -2) and
(5,1, m) lie on a straight line then / and
mare

A) 3,10
Y 2 10

C) -1

B) -3,-10
MYy 3 _4n

2

x-37& 4 fig A(a, b, c) Fir gft

B) b%+c?

D) a?+p?

A) a
C) Ja?+b?

R alb %_AHI._.E._.AI,_.BS

g am 2

M1 ®) B/ Bl
R

Ov -1 Uv _m_m

8. SR firg (-1, 3, 2), (-4, 3,-2) 3K
(5,4, m) TE @I WE, @ /3 m
'

A) 3,10

-. G o amm

B) -3,-10



H:_.o:u: Em uom:_ (1, 1) m:a the uo_:_
of intersection of the circles

x2+y2 +13x - 3y = Q and

2x% +2y2 + 4x — 7y -25=0 is

A) 4x% +4y? +30x — 13y -25=0
B) 4x2+4y?+30x -13y +25=0

10.

C) 4x?-4y?-30x +13y-25=0
D) 4x®-4y®+30x-13y-25=0

The digit in the unit place of 72" is
A) 1
C)3

B) 2
D) 4

. The vertices of the hyperbola are at

(-5,-3) and (-5, —1) and the extremities
ofthe conjugate axis are at (~7, =2) and
(-3, —2), then the equation of the
hyperbola is

-2 (x-572_
AT 4=
Q+mvm.._ﬁx+mvm|._

1 T
(x5 (y+272 _
C) = =1
(x-5° (y-2? _

4 i

Two dices are thrown simultaneously.
The probability of obtaining a total score
ofSis

ay 1/ I

%ﬂmx +2y2 4 4x -7y - 25=0 %
wR=de g & TR TS e T
_— Wil

A) 4x2+4y2+30x-13y-25=0
B) 4x2+4y®+30x-13y +25=0

C) 4x®-4y®_30x+13y -25=0
D) 4x?-4y?+30x-13y ~25=0

10, 7¥' S TFF @R H o ___ R
A) 1
C) 3

B) 2
D) 4
11.. Siftiwaera w3 (-5, -3) alvt (-5, -1) 2

3R g 2181 3 B (-7, —2) 3¥k (=3, —2)
8, W ofirEem W adww 3

(y—-2)° (x-5)?

A) 3 2 =1
(y+2P (x+5) _

B) ] 2 =1
(x+5° (y+2)? - 1

4 A
(x=5)° (y-2)?
)2 T

12. 3 9Tl i o T e o 2 1 o
5 Tt L = Sifman 2

A 1/ a1




19. ITA and b are events with

13. ﬁﬁp%mmﬁﬁ%ﬂ}cﬁnﬁu

15.

P(AUB)=3/ P(A) 5/ and——

P(ANB)= }} then P(B) is

N A
B) %4
) 3,
D) Y

. The probability that among 7 persons,

no 2 were born on the same day of a
week is

A) %,
B) 7
c) Wy
D) %

=
For the events A and B, _u_.H.a._.v = B

P(B)= }¢. PIANB)= ¥ then
P(A/B)=

N/
B) Km_
c) ¥

~y 1/

T PA) wm 3k P(ANB) ._K 2
P(B) gl

A Y
B) %
c) ¥
D) Y

14, gra & & o9 2 T IR F @ R
U1 7 81 oyl 2

A) 2
| E.R
c) %
D) meq

15. A 3l B weisil & g, P(A) =3,

PB)= Y5, PIANB)= J5, &,
P(A/B)=

A Y
B) Ys
c) 3,
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18.

+1 .
If f(x) = xm.m“_ L“ if X #0 then
0 ; ifx=0
which of the following is correct ?

..J ax:moo_.&::ocmm:aﬂouacmm:oﬁ
exist .

B) f(x) is not continuous

C) f(x) is continuous and f(0) also
exists

D) None of these

Ify=si piL ._+x+,\._|xv_:m:

2
Y=
(<1
A o 1—x* !
a=1
B) 2J1-x2

3
C) 21+ x2 -

P

18.

R f(x) = xL_m_*,&“ Rx20 7
| 0 : IRx=0

Frefafea d S wadr g 7

A) f(x) Frem & 3R 1(0) s i i @
B) f(x) fwm i &

C) f(x) Frem ® 3 1(0) i sf@a i 2
D) ¥ & =§ 7

R y=sin Am;,\:x +JT=x)3,
Ay =

1
A 2 fimye

1
B) 2/1-x

©) 2J1+x2
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19. 1 xTy" —(x y)™*"theny = 19, IR X"y — (x+y)"' " B, @ y =
- —v . W T— e e
— . X = X
A =2 B) - o |
) X )y A) B)
-X w.. -¥ :
Cc) — L = y
Y D) % ) 3 D) &
| : =
20. ity=x" ,then y'= | 20 R y=x" By =
, .
If. i Ivsm
A)
x(1~ ylogx) A Xi-yiogx)
. M - )
Y -
B) ——— y
) 1-ylogx . B) ._:e__owx ‘
2
y v
C) T S
x(1- ylogx) ©) Xi-yiogx)
Iv..n . . | 2
D) T iogx D)
1-ylogx
21. The value of the imn_‘w_ 21. SuHed .—mi:xviﬁ:ﬁxﬁﬁ
._.mxﬁ?TwE }dx is 2
A) e*f(x)+c | A) e*f'(x)+c
B) mwﬁ?:o : B) e*f(x)+c
e* Cha
C) :|xm+_u . C) zxv._,n
m.._n - m..f.
D) oy ¢ D) .. . +C




A) 1 B) 0

D) =

23. The value of the integral

e*(x2+1)
o

-

—

X -

A) e*log +C

>

+

-
.

~,
—h
-

B) e*log +C

>
|
—

\ /

3\
C) e* x|+._.+o

3\
D) mum.lu.+n
x+4k

24. The area enclosed between the
parabolas y?> 16x and x? 16y is

A) Mﬁ sq. units

256

B) 3

5q. units

16
C) 3 sa. units

A) e*log| — |+¢ |

B) e*log|— [+¢C

(x+1)

C) e*
) ,,xJ,_

D) e

(%=1

rx.m.._.._

24, TETd y?  16x I x2 =16y ¥ A=
ST 0 B

A) Mimﬂﬂ :
B) 2 i wiat

c) 'y e




25,

The solution of v=e*Y+x%Yis

25. v e* Y x% Y SFIEAYH 2

27.

) 3 e x® ¢
B) e & x%®=c¢
C) e-e*+x3=¢

D) 3(e¥ e*)+x® ¢

. f a, b (mod m) and x is an integer, then-

which of the following ,mm incorrect ?
A) (@+x) (b+ x)fmod,m) i
B) Nm X) , & x)(mod m)

C) ax — bx (modm)

D) (a+x) (b+x)(modm)

if a and b are positive integers such that
(@® b?) is a prime number, then

A) a? b2
B) a® b® a b

(a+b)

C) a®+b? a b
]

D) a2+b%=a+b _

. Which of the followlhg id'false 7 "

]
A) (N, +) ig,a mm:._m-uac_w

B) (Z, +) is a group
C) (N.) is a group

9 Set of all cube roots of unity is an
abelian finite group under

P Srmiita -]

TA 3 &) X o
B) e¥-¢*
C) e-e*+x*=c

D) 3(e¥ e¥)+x® ¢

x3=c

26. afa b (mod m) iR x o= Uit 2, &)

mﬂﬂﬁdaﬂﬁﬁﬂmww

A) (ar+ x)n (b # x) (mod m)
B) (a-x} (b x){mod m)
C) ax bx (modm)

D) (a+x) (b+x)(modm)

27. 3R a 3R b T quilss B 3¢ wE
(a2 - b2) U TE R, @

A) a® b? (a+b)
B) a® b? a b
C) a®+b® a b

D) a?+b? a b

28. mﬂmﬁmwﬁuﬁﬁﬂﬁ
! a :,___ +) T 3 g §

B) Z,+)HaE:

C) (N, T o 2

D) 1M % Tea Uehed & it o ot o
=T A o T 3
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C)
425136,
12 345 6)

Emmémmah

30. In a group G, the equations ax = b and
ya =b have

A} No solutions in G
B) Infinite solutions in G
C) Unique solution in G

D) Dependsonaandb

31. The value of &ms.ﬁfm

5
A) s:._mkw
139

B) ﬁmz.dﬁku
239

C) tan~'(729)

30.

31.

nVAanm_m

,nmmAm“m\ |
(123456
D)lg 3152 4

e G # aiew ax = b 3R ya = b=l
2

A) G ¥ =I§ gaUH T

B) G ¥ 3wa gauE

C) G ¥ T o ImuH

D) a 3R b Wt fnft swear &

1
4tan Aﬁmw Mmﬂ..ﬁ T
A) tan A : u

139

B) ﬂmﬂ:ﬁ 4 u
239

Y tam 1 (Aaa)




32. If sin mfoommnu_ 32. 3R sin Hlfnommﬁid mg.--:_&x
: RGP, _ (o7 ]
value of x WAE B
A) 3 B) 2 A) 3 B) 2
C) 1 D)0 . C) 1 D) 0
33. The general solution of 33. ,\w COS X + Sinx = /2 , I3 qUITeh “n" %
V3cosx +sinx =2 , for any integer e g = g
“n"is . .
n,n n, ="
A) N+ —+— B) nm——+—
LYY . -2y T 6 4 6 4
A) M E*3 B) M-6*3% .
. mu m:almﬁ_m D) onm + =
-t B LuX 6 4 6" n
C) 2nn i D) M:ﬁ+m )
34. The imaginary part of conjugate of 34. T_iu wﬂﬁwﬂﬂﬂﬁm_ﬂwﬂﬁ
1+i) .
-Tu s —— ¥
A) —1 B) —i it B) -
C) 1 D) i C) 1 D) i
35. If @ is an imaginary cube root of 1, 35. 3T 1 i HIeUfh T o B,
then the value of 2 - w) (2 - ®)+ ‘ 2-w)(2-0®)+ 2(3-w) (3~ ?)
283-0)(8-0°) +...+(n-1) +ot (0=1) (- o) (n-o°) F I
(n - o) (n-©?) is ——
n(n + 1) - A) ]li:+.:|:
= 2
2
2 2 —._m.”.q._._.dm
8) EWP-: B) —,—~-n
n(n+1)
c) :Em+¢+: C) i..m|+
in+1? | D) n?(n+17? +n

my



37.

- 38,

E.mz.i is -
A)- Symmetric matrix-

B) m.xms.,mq:._amio matrix
C) Diagonal matrix

D) Scalar matrix

2 3
5 1

is symmetric and B is skew-symmetric
then B = : :

If the matrix ﬁ g A B,where A

1 0
A lo L

[0 =1
B) |1 L

-0 -1
O 4 L

If A is 3 x 4 matrix and B is a matrix such
that A'B and B’A are both defined, then
the order of B is

A) 4x4
B) 3x3

C)3x4

37.

38.

0. "1):
B) _A.L

0 1
C) 11 L

(-1 0
) OL

SR A ITE 3 x 4 § 3R B 78
e ¢ e AB ik B’A 21 ufonRe
forly <17 wéRd 8, oY B T n 21

A) 4x4
B) 3x3

C)3x4




=39 THE MVETSE of the matix [0 3 0118
TQL
Y 0 0
A0 % 0
0 0 ¥
4-moo
—|/0 3 0
B)
ma-ooa
d-[m 0 0
C)— 0 -3 0
24
| 0 0 -4
% 0 0
D) |0 % ©
0 0 %

. Ifay a,,....,a,, ... are in G.P. then

_D@ms _O@m—:+ﬂ _Omm_=+m
_O@m_._...u _Oﬂm_._+h qQ@m?vm is
_Qmmz._.m _8N3+..« _ODN_._._,G

A) 0
B) 1
C) -1

| R Y P T T

S | —
39 FEE [0 3 0] il Uiend T
00 4
% 0 0
A0 % 0
0 0 ¥
r_-moo
—|0 3 0
B)
E-ooa
d-nm 0 0
C) = 0 -3 0
24
| 0 0 -4
% 0 0
D)|0 % 0O
0 0 %

. HR ay, dgy ey @y oo ﬂgﬁ.gm Wu

loga, loga,,, , loga,,,
mw_‘ ._Om_ m-.._._.m _8m3+a _Dm_m=+m
_Oﬂm_.i.m _O@m_._i. _D@m—=+m

2l
A) 0
B) 1
C) -1

= - W m -



. The angle between the curve

x> +y? =25 and _

x?+y?—2x+3y-43=0 at(-3,4)is

A) tan (1)

B) tan'(J4g)

©) %%

D) tan (%)

A man g’ tall moves away from a source
of light 20’ above the ground level, his
rate of walking being 4 m.p.h. At what
rate is the tip of his shadow moving ?
194 0= o
A) -

B)

3

7

40
Ovﬂ.

42.

X2y, + Xy,

A) ndy

B) n?%

C) y2

D)y

(-3, 4) WaH x2+y2 =25 a3t
x?+y? 2x+3y-43=0F T
- 2 o
A) tan (1)

8 tan'(Jgg)

C) %
D) tan .A&v

6 FZ S91 T EH! HeH TR ¥ 20 {2
FR S WHN F WA | g A 8| 39S

e S 4 et Wi e § | sueht e

AN fra AT @ ?
12
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44. The maximum area of a rectangle that 44. 2 ¢ s & g9 | sifen amam =
can be inscribed in a ci i s S — e e
2 units is A) 8 3 gwrdar
A) 8 sq. units B) 4 o1 syt
B) 4 sq. units C) 8r =i s=idyt
C) 8rn 5q. units D) 4n ﬁwﬂ&ﬂw
D $q. units :
! 4 5q.un 45. STRFET f(x) F
45. If the function f(x) defined b 100 89 -1
ﬁ / xxuu.x|1+.ml+..:+x|+xi@
.ﬂnxleA8+x$+ +m.~|+x+._ 10 = 99 <
100 99 TR _ yRwifSd fémm e, & #(0) =
.n—._m—._ wsADu = ’
A) 100f(0)
A) 100f(0) B) 1
B C) 100
C) 100 D) 398 @ % 7
D) None of these 46. 3TgE A W RfTe wiften \
46. The characteristic equation of a matrix A A2-502-ar+21=0 2 @
i$ A’ ~52% -3\ +2=0 then |adjA| = |adjA| =
A) 4 B) 25 . A) 4 B) 25
C)9 D) 30 C)9 D) 30

47. The area of region bounded by the lines

y=mx, x=1andx =2 and the x-axis is
7.5 sq. units, then mis

A) 2
B) 3
C) 4

47. w@wn.:x.xnl_%xnm%x.ﬁm@

sfoafE 85 =1 Swa 7.5 =1 318 B,
@ m 21

A) 2

B) 3
C) 4



49,

50.

pA 2
._.+ lﬂ&r m" Iam_l”.m.H m
dx ax2 | ®
A) 2,2
B) 2,4

C)1,2
D) 1,4

Let A, B, C, D be the points with
position vectors 3f - 2] -k,

2 +3] -4k, ~7+2j+2k and

41+ 5]+ Ak respectively. If the points
A, B, C, D lie on a plane, then the
value of A is

A) O

37
B) Z

-37
C) %

D) 1

Let 3, b, & be three vectors having
magnitudes 1, 1 and 2 respectively.

Ifax(@x€)+b=0, then the angle
between @ and ¢ is

A) T
B) 51/

- feaft gl

A) 2,2
B) 2,4
C) 1,2
D) 1,4

1]

49. W iR A, B, C, D fiigadi  feufyy afew
ShHRT: w.m.lmwrm_ Mw.*ww.;Am_
~i+2]+2k 3R 4i+5]+2k 21 af
g A B, C Dyme w e, & A=

o gl
A) 0

50. 7 i &,b,¢ 7 afw &, R
o w1, 1 a2 21 3R
ax(a Cc)+b 0® AasmcH
= T I 2

A) T
B) mﬁ




51,

Wl IVWIED I Y N

Which of the following acids does not

52,

53.

54,

exhibit optical isomerism ?
A) Tartaric acid

B) Lactic acid

C) Maleic acid ,

D) a-Amino acids

Which of the following reactions will not
result in the formation of carbon-carbon
bond ?

A) Reimer-Tiemann reaction
B) Friedel Crafts acylation
C) Wurtz reaction

D) Cannizzaro reaction

The standard emf of galvanic cell
invoiving 3 moles of electrons in its
redox reaction is 0.59 V. The .
equilibrium constant for the reaction of
the cell is

A) 10%

B) 1020

C) 1015

D) 1030

The potential of a hydrogen electrode
atpH=101is

A) 0.59V
B) 0.00V
C) -059Vv

MYy N nco vy

S2.

53.

54,

C) 3T
D) o-UfMAr o

=1 3 & i ot wel - ey 3§
gftonfie =2 8t ?

A) TR- e

B) %eat g YReeieH

C) s arfirfsran

D) #+fisiml tffdran

vy il 3 HivH sa-agT
Heafish Oet 1 9% emf 0.59 V2 | 35 )
FAiiferan F foe e s g1

A) 1025

B) 1020

C) 1075

D) 1030

pH = 10 W ERERF ToagIE ®1 Rnig
2l

A) 0.59 V

B) 0.00V

C) -0.59 V




56.

57.

58.

59.

conductance ?
A) 0.002 N

B) 0.1N

C) 0.2N

D) 2N

polymer ?

A) Neoprene
B) Teflon

C) Thiokol
D) PVC

Which of the following is a polyamide ?
A) Teflon

8) Nylon-6, 6

C) Terylene

D) Bakelite

Plexiglass is a commercial name of
A) Glyptal

B) Polymethyl methacrylate

C) Polystyrene

D) Polyacrylonitrile

Among cellulose, poly vinyl chloride
(PVC), nylon and natural rubber, the
polymer in which intermolecular forces
of attraction are weakest is

A) Nylon

B) PVC

Y MNebseml v bl

Which of the following is fully fluorinated

56.
R T SgEE R 7

57.

58.

59.

FE AT

Aama s

e

A) 0.002 N
B) 0.1N
C) 02N
D) 2N

fA=fefea & @ < @1 ¢t we & i
A) faifig
B) 3w

C) Terfern
k:i8

# ¥ F G U TRARe £ 7

A) FT

B) A™eH-6, 6
C) efH

D) sehelrge

A FTAE 1 U SuEEfE T

H
A) frreia
B) uifcifieme fummase
C) vuifefeef

D) Wi fEreirmsgrser

Ui, T weiss (),
T 3R TR ©R F Ted wEeR
IR IR MR offenm
qRiwe

A) TEEH

B) di.5t.df.




60. The monomer used to produce orlon is 60. e 1 Fmfor 3t & ferg
- — ﬁm ~ — s — ——t e -.— P — R ———— .-|| —
B) CH, = CCl, A) CH, = CHF
C) CH, = CHCI B) CH, =CCl,
D) CH, = CHCN C) CH, = CHCI
61. Dissolving 120 g of urea in 1000 g of water D) CH, = CHCN
gave a solution|of density 1.15g/mL. The ;
molarity of the|solution is 61. 1000 a1 9t & 120 31 e it ey
A) 1.78M R e 1 o 1.15 g/ml e B
8 ._s 2 | Fore Y e 21
2
) A) 1.78 M
C) 2.05M s
D) 2.22M )
C) 2.05M
62. A 5.2 molal aqueous solution of D) 2.22M
methyl alcohol, CH,OH is supplied.
What is the mole fraction of methy 62. AuTsa YewlE & 5.2 At frere
alcohol in the solution ? CH,OH =1 3mmgfd st sireft 8 1 58 3 derse
A) 0.05 UehIEIeT ohl et S o 7 _
B) 0.10 A) 0.05
C) 0.18 B) 0.10
D) 0.086 C) 0.18
63. 58.5 gm of NaCl and 180 gm of glucose D) 0.086
ly dissol i
were separately dissolved in 1000 m| 63. 58.5 gm NaCl 3 180 am e %)

of water, Identify the correct statement
regarding the elevation of boiling point
(b.p.) of the resulting solutions.

A) NaCl solution will show higher
elevation of b.p.

B) Glucose solution will show higher
elevation of b.p.

C) Both the solutions will show equal
elevation of b.p.

T A——

1000 ml 97+t & g g & We oo sy

? | aRonfie ferm § s & s

& g & Tl Fe 1 g5 Y

A) NaCl foerm Favis =1 357 3=
Tt &

B) i fareem st w1 3w T
33T 8

C) 21 forerem saemi =1 gy 3=
a9l 2



65.

66.

67.

68.

A) Substitution compound
B) Addition compound

C) Elimination product

D) None of the above

Identify the correct statement.

A) Reaction mechanisms are studied
using isotopic labelling

B) Isolation of reactive intermediates
is @ method to establish reaction
mechanism

C) Both A) and B) are correct
D) Neither A) nor B) is correct

Glass is

A) Polymeric mixture

B) Gel

C) Super cooied liquid
D) Microcrystalline solid

Among the following substituted
silanes the-one which will give rise to
cross linked silicone polymer on
hydrolysis is

A) RsSiCl

B) R3SiCl,

C) R,Si

D) RSICly

The polydispersity index of the. polymer
is always

A) 1

B) <1

65.

A) wfteama difies
B) @ afiven

C) |fe@iiuT 3=
D) |5 & =S ot 7

Tl YT Y Ig=H F:L |

 A) AR St s e s s

66.

67.

68.

T T e R S )

B) sriufrarens sexfufiwe &1 gummor @
e o Tonfie 0 o o Bl 2

C) A) 3k B) 3wt 2

D) 7%t A) iR €1 B) g@ &)

= Bl

A) sigershi fsmor

B) I=

C) afi d=rzm

D) #sFifshfRars 3w
ol sfeenfa a3 &

TSI W e e e fafrenia
gifert &1 Fmfo s 2 )

A) R,SiCl

B) RySiCl, |

C) R,Si

D) RSiCl,

TR I TSI SSaw sham
BT | _

A) 1

B) <1

U




M.

70.

71,

72

VLt wlie OF Ne 10Howing staiement 1s 69. F=ffRan weum & @ 9 @1 deign a8
incorrect about enzyme catalysis ?
_=o about enzym _ummw.m_m PaRAmemd 7 )
A E y pr .
nature A) usTTgn it NdgE T &
B) Enzymes are least reactive at BT |
optimum temperature B) 35 ATIHR 90 USIEH FH SRR
C) Enzymes are denaturated by ¥
ultraviolet rays and at high . .
temperature C) Uaen sregraiaeie il ofR 3== arqwm
D) Enzyme action is specific W forra S B
Which one of the following is an D) weiren forn fafime &id @ |
example for homogenous catalysis ? .
A) Manufacture of sulphuric acid by 70. F 3 & FN7 an wwinh e e d 7
Contact process A) Hud ufse g wewfe e =1 fnfor
B) memﬂmmmoea of ammonia by Haber's B) ¥ ¥ whrar gro s 7 i
C) Hydrolysis of sucrose in presence of C) Sreiifi Sregleiiten Ui i 3uf
dilute hydrochioric acid RIS T SIEGISHIRT
D) Hydrogenation of oil D) de i BsgiTe
Mﬂwﬂmﬁ TIgNGIE frofnifhe 71. Firfefea & & wemd # veae @
A) Acetic acid and benzoic acid A) Tffem Utrs ik el Ut
B) Adipic acid and ethylene glycol B) et fre ok surseliv wemerie
C) Ethylene and ethanol C) 3urselH 3t 39|
D) Phthalic acid and acetic acid D) wiiftr Uftre ik e e
Hydrolysis of cyanchydrin derivative 72. ATFTERIE e % wEe e |
produces IeqTE T el R |
A) Carboxylic acids A) FEifaies e
B) Alcohols B) ¥whie
C) Aldehydes C) tfekemse
M KatArnae My S




74,

75.

76.

carbon — oxygen double bonds ?

A) Ketone

B) Esters

C) Acids

D) Ethers

Chloroethane reacts with X to give
diethyl ether. The compound X is
A) NaOH

B) NaOEt

C) H,S0,

D) Na,S,0,

How do you distinguish chlorobenzene
from benzyl chloride ?

A) AgNO, test

B) Schiff reagent test

C) By anaiysis of elemental
composition

D) By adding sodium bicarbonate

The compound formed as a result of
oxidation of ethyl benzene by KMnO,, is

A) Acetophenone
B) Benzophenone
C) Benzoic acid |

74.

75.

76,

C) gy,
D) 3ud

TR 3 X Y sl
SO 9T BT 2 | A X 2l

A) NaOH
B) NaOEt
C) H,S0,
D) Na,S,0,

M S FEEE A RN 5 R
TEEd & 7

A) AgNO, wlgmr

B) firs sifimrds v

C) etz Eaism w1 v s
D) wifeem agermeitte Stga

KMnO,, % RY 3urget i 3 ittt
& Ry ey s T R |
A) THERRTT

B) ssihmT

C) = asy

L



0. AlRYI Tidlldes Teatl wilh diaikyl copper 77, Uleehed gellsed STAU[coRT hiql HATHERHSR]
reagents to give & Oy AT S AT g |
A) Atkanes AT Uohr =
B) Alkenes B) Uwhi=g
C) Alkynes C) UeshTs,
D) Alkyl copper halides D) Ufehel I demeey,

78.

79.

80.

81.

Some meta-directing substituents in
aromatic substitution are given. Which
one.is most deactivating ?

A) —SOgzH

B) -CN

C) —-COOH

D) -NO,

When 2-butyne is treated with
Pd-BaS0O,; the product formed will be
A) 1-butene

B) trans-2-butene

C) cis-2-butene

D) 2-hydroxy butane

Which of the following has highest
knocking effect in IC engine ?

A} Branched chain olefins

B) Olefins

C) Aromatic hydrocarbons

D) Straight chain olefins

Among the electrolytes Na,SO,,

Omo_mu .D.—NﬁmOhvm and ZIBO_ , the
most effective coagulating agent for

Sb,S,; sol is
A) Na,S0, B) CaCl,

Fo. 1% Al Ffi™™~ L e X B & & -« e

78.

79.

80.

81.

Wafes i & Fo Fe-srfEen
gfoeamei i T T R | T A R W@
Tl e frehaTens € ? .
A) —-SO4H

B) ~CN

C) —-COOH

D) -NO, _

S 2-erdA hi aAfirfean _ua-mmmoaw.
iy Bt B, ITUIE HT TS
TR |

A) 15

B) F@-2-54¢H

C) Rm-2-sgdm

D) 2-¥regret =7

T 7 & g = et 99 3 we s
HAiTeRT FTE Bre 8 7

A) ITEW gEE A

B) iy

C) Wafes wsgiar

D) &t sEer iy

TorRIeTsed Na,S0,, CaCly , Ab(SO,),
3t NH,CI & Sb,S, afa % fau w=d
TR S Teie Bl

A) Na,SO, B) CaClL

Y ALl FOCY /™S T T
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e —

83.

84.

82. Which of the following statements is

incorrect regarding physiosorption ?

A) Under high pressure it results into
multimolecular layer on adsorbent
surface

B) More easily liquefiable gases are
adsorbed readily

C) Enthalpy of adsorption (A H,gsomtion)
is low and positive

D) It occurs because of van der Walls
forces

Gold numbers of protective colloids

A, B, C and D are 0.50, 0.01, 0.10 and
0.005 respectively. The correct order
of their protective powers is

A) A<C<B=<D
B)B<D<A<C
C)D<A<C<B
D)C<B<D<A

When a sulphur sol is evaporated,
sulphur is obtained. On mixing with
water, sulphur sol is not formed. The
sol is

A) Reversible
B) Hydrophobic

82,

83.

84.

Fald e e 7

A) 3= q@9 | Aftmifya gae W
gV wa # afnfia @ @ )

B) 31 v & gty gt w1 arftreiy
JEE R |

C) ﬁ@%&%ﬁz&%ﬁhﬂ
IR T § |

D) I8 Ietdrcy i aell i gE Qe & |

GUITHS HI13ed A, B, C 3l DFH gl
I @& $A: 0.50, 0.01, 0.10 3k

0.005 ® | It gea wifdril 1 GE) %9
2 | :

A) A<C<B<D

B) B<D<A<C

C) D<A<C<B

D) C<B<D<A

e T T At anfeie e s €, &
R 9T BT 8 | OF & @y e w
T Al 7 R | ar :
A) wfceredt

B) wrRgIIfes




sodium in liguid ammonia is

-

S RTERR E TR AT MITINITIEIE T NI W

oy AT R aEm e 21

s =l Shepe, VESiiic e ,
B) bnman_m:m B) &w;wﬂﬂ
_ - C) P opylene
_ i C) Wrmsef
D) Pent
) Pentane D) ¥
86. Acid catalysed hydration of alkenes
except ethene the formation i T BigH A F v Io
A) Secondary or ftertiary alcohol AT <61 Fiieft 3 < 2
. B) vzamam_ and m_mnoz ary a cohol A) feefiae am T el
) Secondary alcohol B) st 1 feefiver ehiere
D) Tertiarygglconol C) Teflan hieler =
B7. A D) ¥ N ||
e _
acs 87, Pl # & T 7 s Sk 4T 7 |
A) Phenol V)
B) O-cresol ® A) T .
C) P-nitrophenol B) #i-shdier
D) P-chioroghenol ™ C) R-7rd) Bt |
88. An ether is *_.m volatile than an D) f-sidHTe g
alcohol having same molecular
formula because | 88. TF  WIfYE A Yewrgr I
. A) Dipolar charac er of ether s SR 2 i B,
- B) Alcohols having resonance struct =49 3
| ) 0 g res nee structure FCE
E C) Inerm lecular hydrogen bonding in :
ethers B) Ueshiget Y aTTE weET
D) Intermolecular hydrogen bonding in C) 3 R Al TR Y

alcohols

D) ﬁ%ﬂmﬂﬂﬂgmﬂwﬂwﬂmmﬂﬂu%ﬂ



Er

89,

An_organic compound A{C,HgCI) on

o P —

90.

o1.

92.

~reaction with Na/diethyl ether gives a
3a..8m&o... which on monochlorination
gives only one chloro derivative then,
Ais

A) Isobutyl chloride

B) Secondary butyl o:_oqu

C) Tertiary butyl chloride

D) n-butyl chloride

An oxygen containing organic
compound upon oxidation forms a
carboxylic acid as the only organic
product with Its molecular mass higher
by 14 units. The organic compound is

A) A ketone

B) An aldehyde.

C) A primary alcohol

D) A secondary alcohol

Which of the following is correct
statement ? .

A) Acetophenone is an ether
B) Diastase is an m:ww_:._m

C) Cycloheptane is aromatic
. compound

D) All of the above

Which of the following is incorrect ?
A) FeCl, is used to detect phenols

B) Fehling’s solution is used to detect
glucose

C) Tollen's reagent used to detect
unsaturation

90

N

92.
_A) FeCl, ¥1 374l hiHie i g1 o =

!Loxmmo_u &W.ﬁ
@ﬁmﬂﬂmﬂ%ﬁﬂﬁ?ﬂﬁﬂ :
FTESrTE ST & S e W e
T FERI a1 T @ at ‘A’ 2
A) ITEEN SYETE FANEE.

B) fidfiae sgerse Fass

C) gt syerse FaEs

D) U7 4ZI5d FEINIEE

TR TRU] G ST TRAgaRT el {4eh ANk
3799 ayTorfaeh FUHE H 14 TS STET I
Weh W75 STel (e IcUTE o ©9 B hiai{earersh
ifte e 2 | e FERE A R
A) T& HEA

 B) = Ufeeense

C) & mafhe Yhere
D) = il tehigret

T ¥ U OF W HU R 7

A) Rl T R R

B) SRS UF GITEA ©
Qgﬁ%ﬂﬁgﬂmm%mw
D) %X % it

Pishfa 13 #¥ W A7

B) el Zra0 1 I I w5 T
UIE AT RE o - S,

C) 3w Afirrdish 1 SUAN FEgT H
e ST & e foma s B 1

e




condensation polymer ?

..... e REF WE RETR R ONRY AR ITY .._.Mr‘.rﬂ LAY B -

A) SHH
w - A) Dacron B) i mﬁ._._wu _
B) Zmov_,.ouzm C) hemre
C) Melamine D) Rt
D) Glyptal
94. Which of the following statements is 04 Trrifeflem & & F w1 e v &7
false ? A) Uit TR % e
A) Repeat unit of natural rubber is T 2 | .
isoprene B) ﬂl%@@%ﬁi%ﬂwﬂm&
B) Both starch and cellulose are made AT B S |
up of m_cnomw units C) Fhm wm = @ﬂ%ﬁw S |
Q.}Emnmm_ silk is derived from cellulose D) TaeiT-6, 6 v TFSI R |
D) Nylon-6, 6 is an elastomer
95. Bakelite is formed by the reaction of % wwﬂ_mmmwﬂ_ SIS CER R e e ?
A) Phenol and formaldehyde A) oHitn i v
B) Formaldehyde and aniline B) wrifeseTes 3 sl
C) Adipic acid and ethylene glycol C) Wi ¥ftrs i gomse T
D) Phthalic acid and ethylene glycol D) wafers Wftre 3fik sumefia et
96. Anisole can be prepared by the action 9. Ffean fFe w dumsa smatee A
of methyl iodide on sodium phenate. Afufr & e dam e s osar 2
The reaction is called 7 sffrar =) FRTAL |
A) Wurtz reaction A) T s
B) Williamson's reaction B) AR s
C) Fittig's reaction C) Refig s

D) Etard's reaction

D) wedy arfufsar



T e e

=97 Conider the following reaction :

4

s — T

C,Hs;OH+ H,S0, — Product. Among
the following, which one cannot be
formed as a product underany

conditions ?

98.

99.

A) Ethylene

B) Ethyl hydrogen suiphate

C) Acetylene

D) Diethyl ether

From amongst the following alcohols

the one that would react fas est with
conc. HCI and anhydrous ZnCl,, is

A) 2-methyl-propan-2-ol
B) 2-Butanol

C) 1-Butanoi

D) 2-methyl propanol

Hydrolysis of aromatic amide n?mm

- A) Acids

100.

B) Amines

C) Alcohols

D) None of _.:m above

Methyi phenyl ether can be obtained by
reacting

A) Phenolate ions and methyl iodide

B) Bromobenzene with methoxide ions

P T Y, PR 1 TRy T (R I 1

98.

09.

100.

C,HsOH + H,S0,, — 3 | F=fafaa
Ty wn el o R A s s S e i
T ST T HehaT & 7

A) tefieiE

B) $UISE EEIA Hehe |

C) tfifee

D) SHIZYTEH §

e e @ S wed O @ TR
HCI 37K Fsiet ZnCL, & fifsean s
4

am.wg.mm,&ﬁ..m-&m *
B) 2-=gdi@
C) 1-=Hid

‘D) 2-%ge AT

e Trgs i el
qaT R

A) g

B) THTgw

C) Ur=ieia

D) 3 B 1g of 7

%%@wﬁmmﬂﬁm
IS BRE IR R
A) Feiiere smamg 3it Rure aTdierse
B) AUTHHSE A1 F 919 smaH

P T e L W . .




LR e L L =i -n.M.—ﬁ_!—

101. An alternating voltage V =V, sinat is 101, ﬁ%ﬂ%ﬂ.&.%ﬂwﬂmﬂ_ C, &

connected to a capacitor of capacity )
FaafaH V.  V, sinet SeEd dieest
C, through an A.C. ammeter of zero

resistance. The reading of ammeter is Y et w1 B | e AR 1
n Y Y

o7 L

C) <U=|muo - C) <M\M|Vnm

D) VouC - D) Vool

102. Whatis the required condition, if the light 102. ﬂm.iwﬂ.# e 194 X SR A9 ad Bl

incident on one face of a prism, does w%ﬂﬂm-ﬂ&.@ﬂmﬂuﬁmﬁﬁ%
not emerge from the other face ?

T TR P H g
A) n<cosec A I
2 A) :ng_mma? ﬁ | B) "
<sec Mw < sec A | C)n>
o rese[)
sec A D) n

C) n>secA

v.uommob . O
o _uu:,\..nommn ﬁmg

>
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103-TheCriticat-angle-fore

104.

41048’
and that for water is 48°36’ . Calculate
the critical angle for glass-water
interface.

A) 62°43
B) 34°42
C) 52°42’

D)agoa2t.z G L0

In Young's double slit experiment, one

of the slits is wider than the other, so
that the amplitude of light from one slit
is double of that from the other slit. If I
is the maximum intensity, what is the

resultant intensity when they interfere at

phase difference Q ?

104.

T e T 41048’ S AR E -
ifereR 10T 48°36° B | HiE - UHI &
TETHY 1 SHiTdes IV J1d ShHIfeTT |
A) 62 43
B) 34 42
C) 52 42
D) 44 42 :

| -
@ % gom welie wam #, w Wi @
wite @ foreqa © | 3afoTe O wefte @ e

-t ™ g Tefle @ T R IR

atftreran iga o, o9 98 IF ¥ &
R Q H st w1 2, 9 R

1
oo B 2 Q _
4 mT - Mw i Q
By —=| 1+ 8cos? u
) 9 2
B) Hm, ﬁ._+mncmew I
C) Mw-@lmnommﬂu
Im 2
0) 201 8cos*a) gl G
) g 2

m a?lmm: |J mr
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photoelectron varies with the frequency

B sovaeia < b Tiis S

@

A B) Egp

C) Eq

-V

(f).of the incident radiation as gfafia g 8, 38
A) Eg A) Eg 4
Ec A

v
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107.

108.

100.

1f the vertical no:ﬁo:m% 2 e rth’s

Bmm:mﬁ_n field ata n__mnm is m times

the horizontal component, then the
value of dip at that place is

A) 60° B) 45
Cy 30° D) 159

An electron and a proton entér a

magnetic field perpendicularly both
ha e same kinetic energy. Which of
the following is true ?

A) Trajectory of electro is less curved
B) Trajectory of proton is lesk curved
C) Both trajectories are equdily curved
D) Both move on straight ling¢ path

The reason a moving coil galjanometer
cannot be used with an alternating
currentis that *

A) The coil bends easily
B) The coil heats up too mugh
C) Sparks can be produced

D) The net magnetic “_m_a nan:omm is

Zero
| =

Select the output Y of the combination
of gates shown in figure forinputs A— 1,
B=0;A=1,B 1andA |0 B=0
respectjvely.

£
=2
1

A) (0,1,1) B) (1 0,1)

Eﬂﬁm&q&mﬂ&ﬂu@mﬂjei
ﬂ&mﬁﬁ%%@ﬂﬂﬂ@ J3 TR,

MIT YA RITAF T 8

A) 60° B) 45°

C) 30 D) 15°

107, G491 T F91 ¥ TF 3oEgH AR TF
W g &9 § Heaa yaY R 2
e iR et ?
A) oA S WEY-TY FH gHIEER B
B) Wi st 9&iY-Tg F9 TAEER 3
C) 2t &y-ye g gAwEER 2
D) SF1 e &1 99 9 =er &

dom.ﬁiﬂmﬁ%&ﬁﬂﬁ&aﬂ
ST U % W e o @ a R,
i

_ A wwmﬁaﬁﬁmﬁﬂw

A) (0,1 1) B) (1,0,1)




111.

112.

113.

giobal coverage 1s
A) 3
C)7

B) 5
D)9

The dimensional formula for permittivity
of free space (gg) in the equation

F 1 n__m_.m where, symbols have
4ney 1

ﬂsﬂ:. usual meaning is

Ay MB A2 T

m.v_”g.__llm.._i}m”_ ' :
Gu E.._Imhpwn_uk.u

D) M'L® T2 A™)

A body moves along a straight line
with acceleration 3 ms 2 for 2 seconds
and then with acceleration 4 ms 2 for
3 seconds. What is his average
acceleration ?

A) 34ms2
C) 3.6ms™2

B) 3.5ms 2
D) 3.7ms 2

Two bodies are projected at angles

9 and (90° ©) to the herizontal with
the same speed. The ratio of their times
of flight is

A} sin9:1
B) cos6:1
C) sin®:cos@
D) tos@:sind

111]

112

113

| C) 3.6ms2

A) 3 B) 5

c) 7 D) 9

whem F= | 9% wweh s
4me, 12

YU (g,) % fore smamfi g

2 | &l welter w1 w2 B
A) M'LPAZ T |
B) M'L3T*A%] i

Cy M'LEAZTH

D) (M'L3 T2 A9

g 2 ¥he & o 8 ms2 = &
Y iR i 3 ¥ & T 4 ms2 &=
F Ora ot@ ta@r ¥ g9l 8, 9 36w oftad

= =R Y
A) 3.4 ms™2 B) 3.5ms™

D) 3.7ms™2

) FEgail i gue nfa & &fes i AR 9
al (90° @) v o wEiftg feram s
g R T FE F e ww
I g1

A) sin@:1

B) cos9:1

C) sin6:cos®

D) cos6:sind

hh!b hMa A g

2TEFE
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Lk

The coefficient of friction between two !

e 1=

115,

116.

117.

surfaces is p=0.8. The tension in the
string as shown in the figure is

A) ON
C) 4N

B) 6N
D) 8N

A body of density p and volume V' is
lifted through height h in a liquid of

density ¢ (< p). The increase in m
potential energy of the body is
A) V(p-o)gh

B) Vpgh

C) Vogh

D) Zero

A coppe wire of 3 mm? cross sectional
area carries a current of Sampere. The
magnitude of the drift velocity for the
electrons in the wire, (Assume copper
to be monovalent, M, = 63:5 kg/k mol
and density of copper = 8920 kg/m?)

A) 0.24 m/s B) 0.12m/s
C) 2.4mls D) 0.06 ms
Two long parallel wires placed 0.08 m

apart carry currents 8 A-and 5'A in the
same direction. What is the distance
from the conductor carrying larger
current to the point where the resultant
magnetic field is zero ?

s

116.

117.

tkg o

30
A) ON B) 6N
C) 4N D) 8N

¥ed 6 (< p) F A A SIS h & 99ed p
TIHTH V% T S I HI I3
ST & | =g St ks e W 9fg
?l ..
A) V(p o)gh
B) Vpgh
C) Vogh
D) A

3 mm? S % EFHE ST a5 ST
o 1 FET w ¥ R ¥ s R
I9aTs T W %) (9 <fif
i AN 8, M, = 63.5 kg/k mol 31
R HT O 8920 kg/m3) {
A) 0.24 m/s B) 0.12m/s:

C) 2.4ms D) 0.08m/s

0.08 e & 37 3 it T AR 0 B

R # 3 A i 5 A uR 987 w6 ¥ 7w
U I I HAATS HIAA A T g
Syt safeas i fmafia?




magnetic substance. Then fora

TaIE Mald oh o1l Hag-3(Iefdl A 81 i

Wil

120.

121.

122

paramagnetic substance ST e % foag

A) u, >1%<0 B) u, >1%>0 A) 1 >1,%x<0 B) u>1x>0

C) b <12<0 D) b <1x>0 S hreizs0. D) g<ty>0
. % @u_mu Nﬂm nﬁm_...__m_ 1:1

A transformer of efficiency 90% has L Momﬂ =l 250 v & st

turns ratio 1 : 10. If the voltage across : i 1 e 220 V

the primary is 220 V and current in the wreiftres & Urt 0.5 A #, 4 faeiae

primary is 0.5 A, then the current in uRT R |

secondary is A) 5.5 A B) 5A

A) 55A B) 5A

C) 4A D) 4.5A C)4aA . D) 45A

A 1 cm height needle is placed at a
distance of 0.1 m from a convex mirror
of focal length 0.05 m, then size of the
image is
A) 1cm
C) 0.33cm

B) 0.66cm

D) 0.5cm
Two liquids A and B are at 32°C and
24°C. When mixed in equal masses
the temperature of mixture is found to

be 28°C. Their specific heats are in
the ratio

A) 3:2 B) 2:83
C)1:1 D) 4:3
If pressure and temperature of an ideal

gas are doubled and volume is halved,
the number of molecules of gas

A) Become half

B) Become two times
C) Become four times
D) Remain constant

120. 0.05 m wiFd gl % I 9 & 0.1m

g W 1 om S+ g @ d, 6
wffensr 1 armen 21

A) 1cm B) 0.66 cm
C) 0.33cm D) 0.5cm

121, 379 A 3B 32°C 3R 24°C WA & |

S AT G Foa F fireTrn s d,
& e i aom 28°C @ ST R I
farfiree i =1 arqumE 2

A) 3:2 B) 2:3
C) 1:1 D) 4:3

122. I & eyl g 1 eama i amwE

ST 81 ST 8 R e anen @ s 2,
a1 78 % a7vpat i v

A) antfi 8 ot @

B) 1T & s @

C) =R 7T & et

D) feR it &

—
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— . 123 Therms speed of oxygen at room

[ —————

BSEBEB is about 500 m/s. The _.Bm
speed of hydrogen at the same
temperature is about

A) 125 m/s
C) 8000 m/s

B) 2000 m/s

D) 31 m/s

124. The distance between two points
differing in phase by 60° on a wave.

having a wave velocity 360 m/s and
frequency 500 Hzlis

A) 0.72m
C) 0.12m

B) 0.18m
D) 0.36m

125. A particle moves according to the law

ﬂ .
X=7C0S—. The distance covered by

2 .
it in the time interval between t = 0 and
t=3sis
Ayr B) 2r
C) 3r ‘D) 4r

126. If ¢ is the polarising angle for two optical
media whose critical angles are C; and
C, then the correct relation is

sinC,

A) sind=
) sinC,

sinC,

B) 6=
) mm.:o_

sinC,

C). tan® =
. sinC,

124.

125.

126.

ST 500 imw_m&%ﬂ_ ﬂﬂ@ﬂ. __

frmslaemm R

A) 125m/s B) 2000 m/s

C) 8000 m/s D) 31 m/s

360 m/s 70T A it 500 Hz R &
a0 W e ¥ 60° T 3vem 4 fgaii &
g 2

A) 0.72m B) 0.18m _
C) 0.12m ‘ D) 036m

xu_.oommm_ﬂwmawmﬂﬁﬂammﬁ
21t=0 3R t = 3s % == TAY et A

I 7 i T8 g gl
Ar B) 2r
C) 3r D) ar
It 3 e ATeml w1 Yl Ao 9
&, foreent ifer v C, 3 C, 2 A w
- oy gl
: |m§0
2 m_:¢lm50w
sinC,
e sinC,
C) tane = S"C1




oL When Iney are separated by a
distance of 20 cm, their equivalent

ST T T Ry T MIETTETR TS Q] NN

¥ 20 3.9, B 20 @ arem R 2

127.

128.

27

power becomes + 5 D, then therr

individual powers are
A) 6D and 3D
B) 6D and 4D
C) 9D and 3D
D) 9D and 6D

If the mass shown in figure is slightly
displaced and then let go then the
system shall oscillate with a time
period of )

128.

GikEECIkEE %ﬂmth%ﬂ%w,
9 37 SR A 4
A) 6D 3t 3D
B) 6D 3fit 4D
C) 9D 3w 3D
D) 9D 3R 6D
ufe 3t 3 gwif Tu seunm Y v @
fevenfi e wmaf @ afkc i sm R
ST B, o WOt g Ity &
Y HEHE 89 |

K
Mr k
L

: “I'm
A 2nf
) 2my

3
B) 2r.[°
> 2y o
om
2
C) 2 g
Uuma.@;
m
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129 In-Young's double slitexperiment, using-

a monochromatic light of wavelength ,,
the intensity of light at a point on the
screen where pat difference is 3, is K
units. Then the intensity of light at Muo:._"_

where path difference is wm is

K
2

B) 2K
C) 4K

—A 4
D) 4 | _ #

A

130. Thetemperature co-efficient of resistance
of a wire is 0.00125/°C. Its resistance is

R P O

firg v ol Uy eiw A ¥ =@y H
et K st & | o ore o i A @

gt e < e 2
K
A) 5
-B) 2K
C) 4K
K
D) a
. TR 3 WY 3 ATIHT TR o._mﬁmma

2 1 300 K W 39 wiediy 1Q # | frg

131. InBalmer series for hydrogen atom, find
the nergy of photon correspondingto
longest wayelength. ~ | |

ASLEEE A S B E
B) 3.03 eV
C) 1.89 eV

{7 at 300 K. At what temperafure, ifs
resistance willbe 2Q ? A) 1127 K
A) 1127 K B) 854 K
B) 854 K .
C) 1217 K

C) 1217 K .

. D) 1154 K

= D 1164 K

131, IR @ A FRgIeA Y & fog,
Tl et areed & dexd § wieE it et

TR
Ay 18.9reM [T T
B) 3.03eV

C) 1.89eV




Initially they have the same number of
atoms. Then

A) Xand Y decay at same rate always
B) X will decay faster than Y

- C) Y will decay faster than X

133.

134.

D) XandY have same decay rate
initially

Cobalt ~ 57 is radioactive, emitting

B -particles. The half life for this is 270
days. If 100 mg of this is kept in an
open container the mass of Cobalt 57
after 540 days will be

A) 50 mg
o (50
) J3 | ™9
C) 25 mg I
D) Zero
In the circuit of figure, treat diode as
ideal, current in the 4 Q resistor is
Dz
D, an
20 40
Trav
A) 2A B) 3A
12 30
A
C) . D) 13 A

138.

134.

Sy &1

s e e —

A) XSMY M THE AT oA &
B) Y gom & X o & wear &
C) X e & Y o<t & wzar 8
D) IFaW # X 3 Y 1 T & &t o

HiaTee — 57 WA § st B —=hvil =1
IS SHT & | SR A Sfe 270 &
2| 4t 39% 100 mg =i G TG § @i
W 8, @ 540 fH W1e Fenee — 57 &1

FAIH B |
A} 560 mg
50
0 (72)m
C) 25 mg
D) =
7@ for ¥ wfie i snivs )t st @i,
4 Q wfedres ¥ 9rq 2l
UN
Dy _.L Wwb
1 40
Tizv M
A) 2 A B) 3A
12
C) 7 A D) %M}

ﬁ m__mmm No. aﬂ

3EE

- — =
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136.

137.

an ink dot. When a glass slab (n  1.5)
of thickness 8 cm is introduced on the
dot, the travelling microscope has to be
moved by

A) 3 cm upwards
B) m cm upwards
C) 3 cm downwards
D) 5 cm downwards

Vin a circular path of radius f¥around a
long uniformly charged conductor then

A) V<R

A charged particle moves EHHW velocity

B) <Rm

d
C) <asm

D) Vis independent of R

The capacitance of a parallel plate

4
capacitor becomes 3 times its original

value if a dielectric slab of thickness

n_ :
ﬁnm is q:mm_.ﬁn between the plates
(where d is the distance of mmnmﬂmzoz
between the plates). What is the dielectric

constant of the slab ?

i

A) K=2 : by e

B) K=,

1 Am.

137.

.ﬂ#@m

= bl Sy Ly [ L ymmare -

fr s IS99 8.
g @ (n = 1.5) T forg | @ s
B, AT AR R TR
T B0 |

A) 3 &, FgTht 3R

B) 5 &.1fl. STt 3l

C) 3 4.4 #i= it 3k

D) 53.4. fi= i 3t

afs w wifta =1 Brsam R & Memer 9y
ﬂﬁmi;_mmﬂﬂﬂﬂzﬁ%%mﬂ
& A 3R A
A) V=R

1

mv <o_nm

1
%Y R

ARt e & e v

| B @ & e PRRE R w2, @

TR e GeTRE 3t enfar 319 9e 959

¥ 3 TR R A A s
R 7S 7 (7T e o e

. gftd®)

A) K=2

B) K- ¥

i ..wﬂw_ﬂ.lr-.!, :




U A" &l GTEAT =61 75 § | 991 ]

sides Eﬂbﬁfxlilmrml

139.

~ induction at centre C is

cross-piece in the middle is 10 cm long.
The apex angle is 60°. The resistance
between the ends of the legs is

A) 50.0 ©

B) 26.7 Q

C)272Q

D) 34 Q

A wire loop PQRSP formed by joining
two semicircular wires of radii _“f nd R,

carries a current I as shown in ffigure
below. The magnitude of magnetic

139.

20 cm SR 7% § oI @S 10 om
T B | 3 IO 60° B | 9T % oFd ¥
dawmafre _ #1

A) 50.0 Q

B) 26.7 Q

C)272Q

D) 34 Q

B R, o R, % < srdfademem o @

= o § fou s1gam ar ofwy PQRSP

1 fmio foen T @, S a1 w A

A1 8 | F% C Wb Rehed &1 Ran
T




141,

142,

143.

with time as Q m”m + 6t + 9. The ratio _

of emfatt=3s to t = 0s will be
A)1:9 B) 1:6
C)6:1 D)9:1
A tunnel is dug along the diameter of
the earth. A mass m is dropped into it.

How much time does it take to cross _:m
earth ?

A) 169.2 minutes
B) 84.6 minutes
C) 21.2 minutes
D) 42.3 minutes

A curved road of diameter 1.8 km is
banked so that no friction is required
at a speed of 30 m/s. What is the
banking angle ?
A) 6°

C) 26°

B) 16°
D) 0.6°
The moment of inertia of a sphere of

mass M and radius R about an axis

passing through its centre is m MR?

The radius of gyration of the muzmﬁ
about a parallel axis to the above m:a
E:nma to Em mu:m_.m is :

3
A) W. . B) Wm

141,

142,

143

..wﬂﬂﬂi%mﬂqm%ﬂﬁﬂwﬁ

,2

a -
- E&Iﬁ#‘ﬂmuﬂﬂw:!' Bl SRS S ——

Q 5t2 6t+9 FITHF Y

qiEffa BT R 11 =35 ¥t = Os aF emfa

q |
B) 1:6
D) 9:1

HAUTT
A)1:9
C)6:1

U g1 =t geeft % g § wiard & @
TR | WF FoUWE m 398 Ry e
21 9= B IR F F @ Feaw T :
AT g 7 _
A) 169.2 e _
B) 84.6 fime
C) 21.2 fime
D) 42.3 fire

1.8 .4, =rra =1 9@TER Tew ST
T E, W 30 Hex ufy de i iy
ﬂa%ﬁmﬁﬂau%% ar SfeT
FTE 7

A) 6°
C) 26°

B) 16°
D) 0.6°

# IR BT 39 % Sree o gl

mgmmw_mﬂ%ﬂﬁ@?ﬁ%@%

ﬂﬂaﬂﬁm#immﬂmﬂgmﬂ.
28T &

R |
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oo e ettt ey alildile | W oen _— Nmﬂ.mmm m...m_ﬂm._ﬂ.qm ._lmw_m_ﬂﬂmmn_.ﬂ%ﬂ
- " the tension is T, The natural length of | @& 2 o
wire is L+1
_ : .PV 1 5 2 mg ‘mdF
)H. __._ + mm mu L ~M
X | u X o "R | g iTraT
U URRL L s B2 SEERT
T. T, L@ |
145. & aee 1 g7 100 1.7, Hg ¥ st sam
145. Ineach heartbeat a heariyumps 80 mi of # 80 By fy TR ) 9T S 2 | 0 e 60
blood at  average pressure of 100 mm . g &
of Hg. Assuming  heart per AR B9 4 2, Gl ¥ W Seed s«
se¢ond, the power output of the heart is _w (Prg +13:6x10° kgm ©)
| 7 :L.u 13.6x 0°kgm )(g - 98 ms 2) @ 98hs? |
A) 1.0W ) 1w
C) 1.12W D) 2.16 W « A) 1.0 Fo
C) 1.12W D) 2.16
146. A stationary object is released from a
point P a distance 3R from the centre 146. =0 3 M somme =3 ¥ 3z @
of the moon which has radius R and
ss M. Which one of the following i ﬂmm P& w fon i %mﬂ
c expressions givesdhe speed of the ST R T =g 8 THUA R g 1 Py
o object on hitting th@moon .wn 8 Sl o iRy g 2 7
2 ]
2GM 4GM (2GM (4GM Y2
}vhmm%\ mrﬁwm%\ A) mww« B) W\
n \
2GM Y2 - GM Y2 / ¢ ! 2
o) ﬁ = % D) f_l.% o) [25M oy [GM
_. . ” _ \ "R , R
f 3]
& Ki b.m:mwa of water m_ou._.“..m: ‘_..oz.moam__w 147. qFftdraTsg 45 ms~1 71y & 102 m2
with a speed of 15 ms gushes outof a dea 2 £
tube of cross-sectional area 102 m2and - AP e & FE W
hits a vertical wall nearly. The force e A § 3R 3 dar W ewd 2
exerted on the wall by the impact of wiG8Y T 8 78 w 5w aF &
water assuming it does not rebound is 3 faR 0 T Tl 2
A) 2.25x10° N B) 25x10°N A) 2.25%10° N B) 25x10° N
e = C) goxIoN D) 3.5x103N C) 3.0 10°N D) 35x N

c |

e



148. Two identical charged spheres are

‘suspended by strings of equal lengths.
The strings make an angle of 30° with
each other. When suspended in a liquid
of density 0.8 g cm™ the angle remains

the same. If density of the material of the

sphere is 1.6 g cm™3, the dielectric
constant of the liquid is

A) 1 B) 4
C)3 . D) 2.

149. An electric field E = (21 + 3j)N/C
exists in m_umnm..._._._m potential
difference (Vp — V) between two
points P and Q whose position vectors
fo=i+2j and Tq=2i+]+kis
Ay -1V B) 2V
C) -3V D)4V

150. In the circuit below, the potential
difference between A and B is

’ | 180V
¥
| | | |3HF
I I
1UF
3
7 T 0 -
1KF oE
A) 10V “By20vV
C) 30V D) 40 V

3 T i@ 8 ) T A & S

] T # | SR Th-g@t § 30°
I A 21 0.8 g om S T & 79 |
RN T ot For gEE @ g | 3% 99
6t gy 1 o6 g e R, F g
TR 2l .
A1 B) 4

C) 3 D) 2

149. E=(2i}+ 3]) z\owﬁ@mﬂﬂam
T ? | o R afew =0+ 2]
AR Ty=2i+]+k 3 PaltQFa

fonaiat (Vp — V) 2
A) -1V B) 2V
C) -3V D) 4V

150. TR Remafhe #, A s B & Ffiw =
TerEmm g1

, | 190V
"
_ __mEu
I |
14F
5
| | __l
[ A I8
1uF .Q.au
A) 10V B) 20V
~\ 20\ My AQ \/
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